2005

3

31






1990

14,15

1995

1980

16



14,15 -mail
1097 245
16 15 245 10
1 82
236
236 1000 62
1000 100 79 30 98 3
1000 /
1000
64 143 29
219 26
5 69 6 7 60 8 10 78 10 31
164 54 11 9
70
2
2-1
2-1-1
14 15 ( / )
( )
1’8fy(o)0 20% 40% 60% 80%  100%
! ‘ ‘ —
2 ‘ I |
3 ‘ ]|
4 ‘ B [
I
o0 m [u] o |




1,000 100 100
0% 206 40%  60%  80%  100% 0% 206  40%  60%  80%  100%
I
1 1 1
2 I [ 2
3| I [ 3 [T I
4 o I 4 *:I:
I
o = [u] o | o m [u] o |
100
2-1-2
1,000
0% 20% 40% 60% 80% 100%
1 I |
e I |
. 3 [ [
(|
- o o o |
1,000 100 100
0% 206 40%  60%  80%  100% 0% 206 40%  60%  80%  100%
1
2
3 [T
4
o = [u] o | o [u] [u]




F-
100 7
2-2
14
) 1,000
0% 20% 40% 60% 80% 100%
1 [ I ]
2 f I—
3 —
4 e — I
- 5 7:_ 11
6 T
7 E——
o =] m} m]
1000 100 100
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
1 I— 1 — |
2 E— 2 :—I
3 E— 3 e —
4 e — I 4 o —— I
5 e ——T 5 |
6 E—— 6 |
7 T 7 ———
m] =] m] m] m] =] m] m]




14

1,000

0% 20% 40% 60% 80% 100%

! T

|

|

|

] O O
1,000 100 100
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
) — ) ‘ |
2 [ 2 [ - —
3 [ 3 [ L
o o [ I—
[
o o |




3
3-1
12
1,000
0% 20% 40% 60% 80% 100%
1
2
3
4
5
6
7
8
9
10
11
12
o =]
1,000 100 0
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
1 I
2 ‘
2 I
5 I
I
6 ‘
8 I
9 |
10
11
12 |




3-2

3-1
1,000
0% 20% 40% 60% 80% 100%
1
2
. 3
4
5
10 2
7
11. 8
9
12. 10
11
12
o =]
1,000 100 100
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
1 = — 1 E [
2 = — 2 E |
3 E ‘ 3 E —T
4 = — | 4 E —
5 = 1 5 E —
6 ~ | 6 - — |
7 E ] 7 E 11
8 E | 8 — 1
9 = — 9 E —1
10 E 10 E —n
11 F 11 E :
12 | = — 12 —
o =] u] m] o =]
33
1. 2 3.
4. 5.




7.

1,000

1,000 100

17

o1 o1
|2 m?2
03 a3
04 04
W5 H5
o6 o6
|7 |7
100
o1
w2
03
o4
H5
o6
w7

17




3 5
1. 1,000
o1
2 m2
3 o3
04
5. ms
6. o6
m7
/. os
mo
8. 9. |10
10. o1l
o12
11. m13
12. m14
13. 14.
1,000 100 100
o1 o1
m2 m2
o3 o3
04 04
ms ms
o6 o6
m7 m7
os os
mo mo
|10 m10
o11 o1l
o12 o12
|13 m13
|14 W14
1,000 o1
m2
o3
04
w5
o6
m7
1. 2. os
3. 4. mo
|10
5. 6. o11
7 g o12

13




9. 10.
11. 12.
13. 14.

1,000 o1 100 o1
|2 m2
a3 a3
04 04
W5 | B
o6 o6
|7 |7
as a8
W L]
H10 |10
o1 o111
=13 W13

7

68

10

NN W O o

16




4-1
4-1-1
12
0% 20% 40% 60% 80% 100%
1 [— = ;
T— I ‘
= |‘
i I ‘
5 [r— - O
5 eeee— I m
7 :ﬁ:l: O
— I
9 Er— ‘ I g
e .
11 :—:I:
T —
100
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
) . . . .
1 I
2 2 . I
3 o 3 I .
4 2 : o
5 = 5
6 6 N
7 O 7
8 8 |a
9 m} 9
10 10 m]
11 11
12 12

11



4-1-1

4-1-1

4-1-3
4-1-2

10

12

3,
0% 20% 40% 60% 80% 100%
N . ‘ ‘
W — T
3 [ I
o I
5 [ T O
e T m
] Eeee—— T O
 I— T
9 I g
1
11
I
60 40
0% 20% 40% 60% 80% 100%
1 T :
= I ‘ -
3 = —
4 I I
5 B - : u
6 I o
7 E _:::
8 m}
9
10
11
12
2.. .




Ry

40 50
20 30
0% 20% 40% 60% 80%  100%
0% 20% 40% 60% 80% 100%
1EF e e e e—
- —— T
3F T T l e— e m— — o
—TT—1 PN — e — —
5 - o s E ——T— 5]
: o ] 6 T o
7E = o 7 T T
C 1 O 8 e m|
9 F T 9 e
= — O — e e—
11 C | - 1 . e
| — 12 . o W
4-2
4-2-1
0%  20%  40%  60%  80%  100%
1
N-
F o
s i ]
i a
g a
7 L
ok

13



1,000
0% 20%

40%

60%

80%

100%

©CO~NOOOTAWNPE

4-2-2

100

0% 20% 40% 60%

80%

100%

© oo ~NOO UL WN B

ll

3%

6%

13%

%

8%

14%

a1
w2
a3
04
m5
06
w7
as
o

) 2%

20%
28%

2%

13%

0,
5% 4 3 18%
Sho 7y

a1
w2
as3
04
W5
a6
m7
0Os
B

14




1,000

o1
m2
a3
04
H5
o6
|7
as
L

o1
m2
a3
04
H5
o6
|7
os
o

4-3
4-3-1

Ry

100

o1
m2
a3
04
H5
o6
|7
a8
1)

v
9

o1
m2
as
04
H5
o6
|7
os
L)

© 00 N o O A WN B

0% 200  40% 60%  80%  100%

OO m O

il

15




0% 20% 40% 60% 80%  100% 0% 20% 40% 60% 80%  100%
1 ‘ I | 1 ‘ ‘ —
2 | 2 |
3 | 3
4 | 4
5 5
6 | 6
7 7
8 I 8
9 | 9

o m =] o | o m =] o
5
100
4-3-2
4-3-1
9 6 78 5%/ 1
8 0 - 0p0% o
11% 1 o el o1
m2 5 m2
mki % O3
04 1% 04
5 Hs5
e 30 610/ Oe
m7 14% 0 m7
s 2 as
4 mo 3% mo
13Y% — —

16




N~

N

W

GIEN

D

o NS

o

N ks
NS

1,000
0%  20%  40%  60%  80%  100%
L —
2 I I
3 I I
4 I \
5 \ \
6 :—
7
8 |
9
10 I
11 1 T T
o = a] o
Oh 206 40K 606 80 100
i 1000 100
3
m
5 u
7 O
- O
9
1 : -
100
0% 20% 40% 60% 80%  100%
1 I ‘
2 C— I ‘
3 [Co—— I ‘
4 O I :
5 [E— —
6 N I
7 1:—::1
8 [ I
9 I:___::IZI
10 [ I ‘
11 I ‘
o = [u] o |

17



4-4-2
4-4-1 3
80
1 , CAD ,
CAD
g9 101
o1 0% 201% o1
3 m2 m?2
a3 a3
8 04 04
* ms ms
m6 me6
7 |7 |7
18% os os
mo 5 mo
6 5 1 m10 14% 43 2 m10
19%
9% 16% 011 1% Oo11
,CAD
CAD 9
1,000 mL ] 1,000 100 B 100
m2 m2 o1
a3 o3 m2
04 (mk!
m5 23 04
5
o6 o6 ms
m7 m’ m7
os os ms
mo L mo
m10 m10 =10
o11 011 o11

18




0 20 40 60 80 100 120 140 160

19




1000 1000 100 100
% % %

1 10.2% 9.2% 7.5%

2 9.8% 8.0% 7.5%

3 9.5% 7.3% 6.4%

4 7.4% 6.3% 6.0%

5 5.6% 4.9% 4.9%

6 4.8% 4.8% 4.9%

7 4.8% 4.6% 4.9%

8 4.3% 4.6% 4.3%

9 3.9% 3.9% 4.3%
10 3. 7% 3. 7% 4.1%
11 3.3% 3. 7% 3.6%
12 3.0% 3.4% 3.6%
13 2.8% 3.2% 3.4%
14 2.6% 2.8% 3.2%
15 2.4% 2.5% 3.2%
16 2.2% 2.5% 3.0%
17 2.0% 2.3% 2.1%
18 2.0% 2.0% 1.9%
19 2.0% 2.0% 1.9%
20 1.7% 1.7% 1.7%
21 1.5% 1.7% 1.5%
22 1.3% 1.5% 1.5%
23 1.1% 1.5% 1.5%
24 1.1% 1.5% 1.3%
25 1.1% 1.4% 1.3%
26 0.7% 1.4% 1.3%
27 0.7% 1.1% 1.1%
28 0.7% 1.1% 1.1%
29 0.7% 0.7% 0.9%
30 0.4% 0.7% 0.9%
31 0.4% 0.7% 0.9%
32 0.4% 0.6% 0.6%
33 0.4% 0.4% 0.6%
34 0.2% 0.3% 0.6%
35 0.2% 0.3% 0.4%
36 0.2% 0.3% 0.4%
37 0.2% 0.3% 0.4%
38 0.2% 0.3% 0.4%
39 0.2% 0.1% 0.2%
40 0.2% 0.1% 0.2%
41 0.2% 0.1% 0.0%
42 0.0% 0.1% 0.0%
43 0.0% 0.0% 0.0%

1000 42%, 100 1000 34 , 100 28%
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1 9.8% 10.0% 9.4% 6.7%
2 9.0% 8.5% 8.8% 6.2%
3 8.5% 8.2% 7.7% 6.2%
4 6.9% 6.2% 7.4% 6.2%
5 5.2% 5.6% 5.4% 5.1%
6 4.6% 4.9% 4.5% 5.1%
7 4.6% 4.6% 4.0% 4.5%
8 4.0% 4.4% 3.9% 4.5%
9 3.8% 4.1% 3.9% 4.5%
10 3.5% 4.1% 3.6% 3.9%
11 3.3% 3.6% 3.6% 3.4%
12 3.3% 3.6% 3.6% 3.4%
13 3.1% 3.1% 3.2% 3.4%
14 2.7% 3.1% 3.1% 3.4%
15 2.7% 2.6% 2.8% 3.4%
16 2.5% 2.6% 2.3% 2.8%
17 1.9% 2.3% 2.0% 2.8%
18 1.9% 1.8% 1.9% 2.2%
19 1.9% 1.8% 1.9% 2.2%
20 1.7% 1.8% 1.9% 1.7%
21 1.7% 1.5% 1.7% 1.7%
22 1.5% 1.5% 1.7% 1.7%
23 1.3% 1.3% 1.5% 1.7%
24 1.3% 1.3% 1.5% 1.1%
25 1.3% 1.0% 1.5% 1.1%
26 1.3% 1.0% 1.2% 1.1%
27 1.0% 0.8% 0.8% 1.1%
28 0.8% 0.8% 0.8% 1.1%
29 0.6% 0.8% 0.6% 1.1%
30 0.6% 0.8% 0.6% 1.1%
31 0.6% 0.5% 0.6% 0.6%
32 0.4% 0.5% 0.5% 0.6%
33 0.4% 0.5% 0.5% 0.6%
34 0.4% 0.3% 0.3% 0.6%
35 0.4% 0.3% 0.3% 0.6%
36 0.4% 0.3% 0.3% 0.6%
37 0.2% 0.3% 0.2% 0.6%
38 0.2% 0.0% 0.2% 0.6%
39 0.2% 0.0% 0.2% 0.6%
40 0.2% 0.0% 0.2% 0.6%
41 0.2% 0.0% 0.2% 0.0%
42 0.2% 0.0% 0.0% 0.0%
43 0.0% 0.0% 0.0% 0.0%
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